V%

BT =h)LT—% / Technical Datall

##{+:JLY / Recommended torque

FNATUTARILEM3x10 / Hexagon socket head M3-10 : 0.2N-m

FDhE R / Other screws : 0.3N*m ~ 0.6N-m

HEHNZ / Components

No. Z ¥ / Part name = / Pcs #ME / Material 8- REAIE / ColorFinish

: a—F—Javy 4 TILEF A Fv X ADC12 DILN—, Tovy-FE

Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) 4R ) TILEHRHH A6063S-T5 DW= TSV TILIAND T HE

Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
s IL—L . TILEHHH A6063S-T5 DIN— TS -TILIANY T B

Panel support frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
. ISR ) 7IJLEHR A1100P DIWIN— TS5 FILIAb

Panel Aluminium A1100P Silver , Black*Anodized

Hn— : 7ILEHR A1100P DIWIN— TS5 FILIAb

Top cover Aluminium A1100P Silver , Black*Anodized

TH/N— ’ 7ILEHR A1100P DIIN— TS99 FILIAk

Bottom cover Aluminium A1100P Silver , Black*Anodized

aA—F—H—F o TPE (T5XK) TS99, JL—, RAE—, LR

Corner guard TPE (Elastomer) Black , Gray , Navy , Red

EfE R (M3 x 8) " % =T ILAYE

Screw (Flat head M3 - 8) Steel Nickel plated

IFER (RERFARILEMS x 10) 8 % =ffiRonA—+

Screw (Hexagon socket head M3-10) Steel Black trivalent chromate

BAER GRARERMS x 5) 4 % o ILAYE | ZlEVAA—k

Screw (Original trapezoid hex head M3 - 5) Steel Nickel plated , Black trivalent chromate

>

P
e 2
] 7
9
6
Bk (BFEFRREDOD) / Color Type(End of product numberd) 8
525 / Code 7 ILEH—X / Aluminium enclosure a—4—H—K / Corner guard
S B < JLiN— / Silver 75w4 / Black 24 /Title
S G 2 )LsN— / Silver 5L— / Gray [TAKACHI| #X&EHINFERTE A—F—H—RHTILIHI—R C()) G
z z /j::j:_ j 2?:"“ iﬂ: /_R/ g‘avy TAKACHI ELECTRONICS ENCLOSURE CO,, LTD. ALUMINIUM ENCLOSURE with CORNER GUARD e
v — ilver Y e = %./Scale
= /A = I S )

5 B 5595 / Black 5595 ) Black 7 2%/ Approved 1% X]/Checked #[X]/Created Z/Product number
B G 7597 / Black 4'L— / Gray iR F L2 5] AUG88-43-36-[1[1 ~—<p
B N J5v% / Black RAE— / Navy ~/rage
B R 7594 / Black Lk / Red YER B /Date 2024/09/26 177

AREOEEEIIHISHINTFERITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




D view
3
I
(0]
*
mLIJ
o
H o
S %
T
t

B-B(1:65)

313

383

E view

360+ 0.5 (r—R4ME / External)

A view

100
l— @

—

430+ 0.8 (r— R4} % / External)

F view

R24

N | A
= A B

T | B

=l . g
= A

50

A-A(1:65) C-C(1:65)
© -
© [ee]
346 423
C view B view
368
~
=
[fe]
~N
R52
S/ Title

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

aA—F—H—FRF7ILIHT—R
ALUMINIUM ENCLOSURE with CORNER GUARD

o]

#2/Approved

iR

%[/ Checked #[X/Created

ES A

#4% /Product number

AUG88-43-36-[1[1

R /Scale
1:6.5

{ERL B /Date 2023/03/13

~R—/Page

2 /17

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fAl#x / C Frame

310

87

XM / Front side

D {8l#% / D Frame

M / Front side

80.7

- I 3
< o
5 2-M3FHSR 5
2-M3 Countersunk
225 ¥ R3IELE 4k / Same on the other side.
™
™
™
| -
@
-
™
251 / Back side
les L
[ \>4]

Z7H / Back side

m/Title
TAKACHI] #RXaitanFE@TE Bl @]==
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
#2/Approved #R[X|/Checked #[X]/Created #4%/Product number RE/Scale
1:25
iR ES Eaza) R=T/Page
H88 - D360 1ERLH/Date 2023/03/10 3 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




225

380

L)

(M

R

S

2-M3HHY IR
2-M3 Countersunk

M3

14

68 2

45

3.3

£t47K / Total 4 pieces

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a/Title
IL—L

Panel support frame

o]

755/ Approved %[/ Checked #[X/Created #4% /Product number RE/Scale
1:2
iR E: w4t —
W430 1ERLH/Date 2022/11/16 4 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /N2RJL / A Panel

380

77.2

A#~ti%k / Max dim. 372+ 0.5

XM / Front side

B /A% JL / B Panel

XM / Front side

<Ti% / Max dim. 69.2+0.3

)]

A

15
REE—Ma
Surface protective film side
REE—Ma |
Surface protective film side |

251 / Back side

ZH / Back side

fad/Title
TAKACH) #=&#snF BRI R o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
2 /Approved #&[X/Checked #[X]/Created F& /Product number RIE/Scale
1:35
iR ES it R—T/Page
H88 — W430 YERLH /Date 2023/03/10 5 /17

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

349.4
330

M@ / Front side

419.4

400

B3t 3% / Max dim. 383+ 0.5

6-@4.5

A#hTi% / Max dim. 313+ 0.5

fREEL— A

Surface protective film side

2@ / Back side

w4/ Title
TAKACHI| #XK#H2HhFERIE H8— @ CI
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. TOp cover
732/ Approved &/ Checked BI[/Created | E4&/Product number FRR/Scale
1:4
iR ES it R—T/Page
W430 - D360 ¥ERB/Date  2022/11/16 6 /7

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

349.4
330

R / Front side

419.4

400

B3t 3% / Max dim. 383+ 0.5

6-@4.5

A#hTi% / Max dim. 313+ 0.5

fREEL— A

Surface protective film side

ZEME / Back side

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a/Title
THhi—

Bottom cover

o]

755/ Approved #R[X|/Checked #[X]/Created #4%/Product number RE/Scale
1:4
iR ES it R—T/Page
W430 - D360 fEfiA/Date  2022/11/16 7/7

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	
	Sheets and Views
	Model


	
	Sheets and Views
	Model



